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II. Identify the angles that go with the following types. (give all angles for each type)
2l s, 247

q44+L7
5) Corresponding angles £34£¢, £ W(-f) Alternate exterior angles f A alz 2 ; 7
2
1
7) Consecutive interior angles 8) Alternate interior angles
L3445, L2+L¥% L34LF
d L2445

III. Using the figure below, state the transversal that forms each pair of angles. Then identify the special
name for the angle pair.
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t
1|5 A
10) £2 and £10 transversal = _¥~___ special name = Coo’fé.‘..:ﬂohJ dng 356
78> 5
11) 74 and £9 transversal = ___ special name = A/ te Tuteaor
12) s6and #3  transversal = M special name = A/femebe £ fraore 9|10 ] R
112 15116
13) Z14 and £10 transversal = J{__ special name = Corvespondes v ¥

14) /7and 213 transversal = _-__ special name = Same Side Lantreror

In figure below allb, m£1=78°,and m£2=47°.

Find measure of each angle. a
21) 23 < /62 2) /4 = /6% " g /8 /i .
412/6
23) 25 =7% 24) £6 =733 3/4%
1
25) £7 =47 26) £8 =97 10

5
27) 29 =133 28) 10 =/o2
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Use the picture above to identify the special name for the angle pairs.
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24 and 216 Corv e sponding 53) sdand A3 Same side  Extenwr

20 and 216 _Ver brecd Angles 54) sand 211 Cerv i

m<2="58° and m«13=111°, then find the missing angle measures. xllm, zlly
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mi3= [/ i
mzs4=_1]1

ms5=_5% > >
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ms1=_58
mLl2 = I;-)-
mz3= HI°

ma4=_ @9 m

mAs= 428 S 3
m6=_8%  (16-19 look at line x and m)
maA7=_122
mel18 = 122
mas=_68 LI9HIG Hs =r80

L3+ ST HIS =480



For the given figures, find the value of x and the measure of £1. ?)5"7 = $x+9Y9
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Given: a || b; I||m
Prove: X6= X16 ,

| nliome? /)/\
4. Given:
mLl=ms2 D1 25 B
Prove: m£3=mZ4 A( \C
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5.Given: Z£1& Z4 are supplementary

qllr
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5) meltml? =l 3 tml
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Given: ACD, CE bis XDCB

CE | 4B
Prove: £A =4£B
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